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Dt T 15.61]  32.19 90 0 30 0
) 557z 1571 32.91 0 0 0 0
®=vik 15.55| 3255 0 0 0 0
@EFH 1% 14.75|  33.34 0 20 0 0
GOXE#E| 1575 33.18 0 0 10 0
®F1R 15.20]  33.23 0 0 0 0
DES 14.99]  33.38 0 0 0 0
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128148 50 0 0 0 0 10 0 - - -
12A21H 210 0 0 0 0 0 0 = - =

1858 230 0 0 0 0 10 0 0 0 0
1812H 10 0 0 0 0 0 0 = - =
1H25H 50 0 0 0 10 0 0 - - -
2H1H 110 0 0 0 0 0 0 0 0 0
2H8H 140 0 0 0 0 0 0 = -
2016E28178H 60 0 0 = 0 0 0 - - =
2H22H 20 0 0 0 0 0 0 - - -
3H2H 10 0 10 0 0 0 0 0 0 0
3H7H 0 0 0 0 0 0 0 0 0 0
3H14H 0 0 10 0 0 0 0 0 0 0
3H22H 0 0 0 0 0 20 0 0 0 0
3H28~29H 0 0 0 0 0 0 0 0 0 0
485H 40 0 0 0 0 0 0 0 10 0
4812H 20 0 0 0 0 0 20 = 0 30
4818~20H 20 0 30 0 30 10 0 10 10 0
4825~26H 20 0 0 0 0 0 0 0 0 0
5H2H 60 0 0 0 0 0 0 = - =
5H9H 40 0 20 0 0 0 10 0 0 0
5H16H 40 0 0 0 0 0 10 0 0 0
58230 90 0 0 0 0 0 0 0 0 0
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128148 0 0 0 0 0 0 0 = - -
12H21H 0 0 0 0 0 0 0 - - =

1858 0 0 0 0 0 0 0 0 0 0
1812H 0 0 0 0 0 0 0 - - -
1825H 0 0 0 0 0 0 0 = - =
2H1H 0 0 0 0 0 0 0 0 0 0
2H8H 0 0 0 0 0 0 0 = -
20165E2817H 0 0 0 0 0 0 0 - - -
2H22H 0 0 0 0 0 0 0 = - =
3H2H 0 0 0 0 0 0 0 0 0 0
3H7H 0 0 0 0 0 0 0 0 0 0
3H14H 0 0 0 0 0 0 0 0 0 0
3822H 0 0 0 0 0 0 0 0 0 0
3H28~29H 0 0 0 0 0 0 0 0 0 0
485H 0 0 0 0 0 0 0 0 0 0
4812H 0 0 0 0 0 0 0 = 0 0
4H18~20H 0 0 0 0 0 0 0 0 0 0
4825~26H 0 0 0 0 0 0 0 0 0 0
5H2H 0 0 0 0 0 0 0 = - =
5H9H 0 0 0 30 10 0 30 0 0 0
5816H 10 0 0 20 0 0 0 0 0 0
5H23H 0 0 0 20 0 0 0 0 0 20
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128148 140 0 0 0 0 0 0 0 0 0
128218 170 20 0 0] 0 0 0 0 0 0

185H 1190 10 0 0 0 10 0 0 0 0
1812H 280 30 0 0 0 0 0 - - -
18258 600 0 0 0 10 0 0 - -

2H1H 1580 10 0 0 0 0 0 0 0 0
2H8H 1330 30 0 0 0 0 0 - - -
2H17H 380 10 0 - 0 0 0 - - -

201642 H22H 640 10 20 0 0 0 20 = - =

3H2H 1870 30 10 0 0 0 0 0 0 0
3H7H 1490 0 0 0 0 0 0 0 0 0
3H14H 580 10 0 0 0 0 0 0 0 0
3H22H 450 10 10 0 0 0 0 0 0 0
3H28~29H 300 10 0 0 0 0 0 0 0 0
485H 80 0 0 0 0 0 0 0 0 0
4812H 480 0 0 0 0 0 0 - 0 0
4818~20H 60 0 0 0 0 10 0 0 10 20
4825~26H 10 0 0 0 0 0 10 0 0 0
5H2H 140 0 0 20 0 0 20 = - =
5H9H 20 0 0 0 0 0 0 0 0 0
5H16H 50 0 10 20 30 0 30 0 0 0
5H23H 30 0 0 0 10 0 0 0 20 10




